Biot-Savart Law for Magnetic Field as appeared for the Flow of Steady
Current:

In general a static charge creates electrostatics field at any point where as a moving
charge or current flow produces magnetic field or
magnetic induction in the neighbour region. The
magnitude and direction of the magnetic field or
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this Biot-Savart law or Laplace’s law
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of the conductor used. Thus by the rule of vector, this magnetic induction will be, since
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will be B =Z—; i . —This is mathematical representation of Biot-Savart law or

Laplace’s law.

This integral is also called Laplace’s Integral which gives both direction and nitude of
magnetic induction at any neighbour point of a current carrying conductér. ther

hand the magnetic field intensity at that field point will be
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since in air or vacuum B = I

®

N



